IFP MD20-Design "73" Manually Operated

Monoblock Valves

FEATURES

* Adjustable Balanced Piston Relief Valve
* Power Beyond / Closed Center Available
* Integral Load Holding Check Valve

* Optional Pilot Operated Check Valves

* Single / Double acting & Motor spools

* Spring Return or Detent

MD20 ORDERING CODE

IFPMD20 1 C S

Monoblock _

Valve  yalve Series
20 =15 GPM

Number of Spools

Port Type
S = SAE (std)

N = NPT *Factory Lead Time
B =BSP *Factory Lead Time

73

Design Number

Tank Port
No Code = Open Center
C = Closed Center

; = ; SPOO: Spool Type P = Power Beyond
= 00 - H -
33 Sgool C = Double Acting Spool Function
M = Motor Spool No Code = Spring Return
D = Detent
Model MD20 Valve Ports
Maximum Flow 15 US gpm (56 I/min) Thread| Port - A & B| Pressure | Tank
Recommended flow 12 US gpm (45 I/min) SAE | SAE-8 SAE- 10 | SAE- 10
Maximum Pressure 5000 PSI (350 bar) NPT 1/2" 1/2" 1/2"
Maximum Back Pressure 1160 PSI (80 bar) BSP 1/2" 1/2" 1/2"
Leakage @1500 PSI (100bar) 0.06 in3/min (1 cm3/min)
Weight MD20 -1 7.9 Ibs (3.6 kg)
Weight MD20 -2 11.2 Ibs (5.1 kg)
Weight MD20 -3 15.1 Ibs (6.9 kg)
(bar) S 16 /]gfén) (bar) 5 10 (apm)
20 270 20 | 270
059 VA/\ B A BI)T
180 RS /180~ P-A3(B3)
s %
90 P-T MD20/2 S 90
—_— P-T MD20 /1 ‘ A3(B3)-T
0 20 40 60 0 20 40
( I/min) (l/min)

PRESSURE DROP




IFP MD20-DESIGN "73" Manually Operated

Monoblock Valve"Single Spool" ADVANCED TECHNOLOGY

1/4" BSPT Plug

A

Dimensions: mm (Inches) 1 Power Beyond Conversion: | 7~~~
| Insert 1/4 plug / Use Side tank port as power * /¥.{ 7~ || Side
+ beyond port ] ' NN _>
» Closer center Conversion: A T Port
! Insert 1/4 plug / Plug Side tank port 1 \/\///‘"\f 7,
L et et e et et f e e e — - 2 &_—f_”_/,_-’
2 :
1 (4.41) :
0 _ (0.43) ; !
(2.36) 0.47) E
. 44 73 :
(1.73) (2.87) :
1
1
B 9x4 holes '
(0.35) y;
/

S
[
i
e
1O
Wm 1
WJW{
ERE L {

L1 505
200 PE-NS A 099
78 (50 ~N
2
G;N\ 0.47
(2.63) % 1 (0.79)
S Mo
AB
30 |30 | 27

. . P
) T
| Caps l
Weight 7.9 Ibs(5.1 kg) I % |

5 10 ]
256/ (ggm (bar) o 10 (gpm)
270 20 4270
si) % i)
o3 VAK B AY(BI)T
180 A 180 P-A3(BI)
10 P-T MD20/3 10 o ——P-A1(B1)
< / ;
= 5o P-TMD20/2 70
/
| - P-T MD20/2 == AS(B3)T
0 20 40 60 0 20 40 60
(1/min) (l/min)

PRESSURE DROP




IFP MD20-Design" 73" Manually Operated

[1] n 4
Monoblock Valve "Double Spool DVANCED TECHNOLOSY
At
W Compac
Dimensions: mm (Inches) NeW. 0
pes\9
€0 10 151
T 236) | (0.39) (5.95)
15
. 44 059 110
1.73) (4.33)
D 9X4 holes
(0.35)
CXO) ALN—AD @
34 E W T 81
1.34) —1 T (3.19) (4.
oo
45.5 S o~/ {4 w (1.99)
(1.79) ! i
/e
=7 1% = N 0.47
T, (2,63 " (0.79)
M10
2 36.5 _|_30 37 _|_245
(087} (1.44) " (1.18)  (1.46)  (0.9¢)
90
(3.54)
Weight 11.2 Ibs (5.1 kgs)
A B A B N~ 3/8 EBSPT Plug
1 T T
- - - 1 Power Beyond Conversion: ;| v~~~
1 Insert 3/8 plug / Use Side tank port as power ' /¥ T |
' ;léelygédepror(t:enter Conversion: b g
| \L 3 3 ' Insert 3/8 plug / Plug Side tank port . | % ;//—'---\I, 2
P = = C e ool S
(> o el e s el
] > >< L T
4

FT

FT




IFP MD20-Design "73" Manually Operated NTERR ATECAm! AN
Monoblock Valve "Triple Spool” ADVANCED TECHNOLOSY

Dimensions: mm(inches)

188
60 0 (7.40)
(2.3¢] (039) | L. 15 16 |
44 _ (0.59) . (0.63)
(1.73) (5.78)
D 9x4 holes
(0.35)
OO0 X—
34 @ s \
(1.34) [ }]] 81 103
200 | ( ) E — | 505 (3.19) (4.06)
(7.87) 4 s i% o~ &/ ‘ﬁw (1.99)
(1.79) N L
\~/ '-I
p 12
5 5 N L (0.47)
67 ' 20
(2.63) _(0.79) |
\ \ \ ¥M1O
(0.87)R 36.5 30 37 37 | 245
(1.44) " (1.18) " (1.46)  (1.46) (0.96)
(3.54)
e 1‘/4" BSPT Plug
I B AP
, 1 Power Beyond Conversion: | 7~
Welght 15.18 Ibs (6.9 kgs) 1 Insert 1/4 plug / Use Side tank port as power * /[¥.{ 7= Side
+ beyond port ) BN —>
. Closer center Conversion: nay T Port
! Insert 1/4 plug / Plug Side tank port ' NN
L e o e e e ememimama— 2 S
AB AB AB
[ I I [
L] s 5 5
P H H = —
T H H
) — — ¢ - w
@ — A T
r— ><] > > L
| H H H H H H
I I L, 1
[ [




PARTS DRAWING: IFP MD20-1 / 1-SECTION MONOBLOCK VALVE

Date: OCTOBER 14-2008




PARTS DRAWING: IFP MD20-2 / 2-SECTION MONOBLOCK VALVE Date: OCTOBER 14 - 2008

ADVANCED TECHNOLOGY




IFP MD20 MONOBLOCK VALVE
OPTIONAL P.O. CHECK VALVE ASS.

10
. V- .~ —
(0.39, /CP G03 216)

22

™
/

(0.84) *‘T
N\

- ‘ 777
sbi ‘ 811 ] h7 oo !
60 - ~ 9 N
(3.19) 103 NS o5 92
1 (2l36) 404 j V; "o #3 Z

/G

© .\

2
_(0.47) | ® g
o
20
L _(0.79)
‘ M10
365 | 30 37 24.5
(1.44) " (1.18)  (1.46) ' (0.96)
28 9 28 18.5
(1.10) (0.35)(1.10] (0.72)

ARDLE L I

(0.98)(0.64)

i e
(e
A 0)
)>°)> : (
[e] [o] T
NERIG
) (
125 165
—= |=M5

0.4]
N7 WL
TIN (0.51)
SECTION A-A T

Dimensions - Millimeters (inches)




	1
	2
	3
	4
	5
	6
	7

